Weekly report – modified version

Experiment: For some given Vdd, and Vth/Vdd ratio, apply the method from the paper to compute the optimal power per segment. The study is done for a certain range of vdd and vth.  The experimental result shows that there exist an optimal point and the Vdd-vth pair for this optimal point does not lie on the boundary as speculated before.  
The range of Vdd and vth can be used to plug into the equations in the in paper was very limited because when approaching failing the delay constraint, the solution found exploded, which I am not too sure if it is a problem of matlab or if it is actually the problem of the method.  Even if the range is limited, an optimal value can be found.
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